vi kansul.c
gce -0 kansul.out kansul.c

Jkansul.out

#include <stdio.h=

it buy(int x. int ¥):

main( )
¥
L

int a. b. sum;

a=35:

sum = buy(a.b):
printf{"sum = %d¥n" . sum);

return 0:

nt buy(int x. it y)
I
L
int tmp:
mp=x+v:

refurn tmp:




vi kansu2.c
gee -0 kansu2.out kansu2.c

Jkansu2.out

#include <stdio.h=>

void replace(int x. int y);

main( )

¥
L

it a. b:
a=>5
b=10:

printf("a = %d. b= %d¥n".a.b):
replace(a.b):
printf("'a = %d. b= %d¥n".a.b):

return 0;

a & b DIED.
A>T
VN2 N,

void replace(int x. int y)

¥
L

it tmp:

timp = Xt
X=y
v = tmp:




cp kansuZ.c kansu3.c
vi kansu3.c
gee -0 kansu3.out kansu3.c

Jkansu3.out

#include <stdio.h>

void replace(int *X. int *v): («— Z5W)

main( )

{
int a. b:
a=>5;
b=10
printf("a = %d, b= %d¥n".a.b);
replace(&a.&b): (e— ZEH)
printf{"a = %d, b= %d¥n".a.b);
return 0;
}
void replace(int *x. int *v) (e— ZEWH) al b DEDN,
{ AN Hiio > T
int tmp: W5,
tmp = *x: (e— Z5H)
*y = Fye (— ZEH)

_ ty=tmp: (— Z®)

1
i




vi pointerl.c
gce -0 pomferl.out pomterl.c

[ pomnter1.out

#imclude <stdio h=

mam( )

{
wt a, *b;
a=>5;
b= &a;

printf{" a = %d¥n", a);
printf{"&a = %ep¥n", &a);
printf{" b = %p¥n", b);
printf{"*b = %d¥n". *b);

return 0;

1} /pointerl.out

&a & b DfEIZ, ZD
il & B2 DD, &a &
b OfE X% L W
(&a=b),

cp pomnterl ¢ pointer?.c
vi pointer?.c
gce -0 pointer? out  pointer? ¢

[ pomnter2_out

#include <stdio h=

main( )

{
wt a, *b;
a=>3;
b= &a;

printf{" a = %d¥n", a);
printf{"&a = %p¥n". &a);
printf{" b = %p¥n". b);
printf{"*b = %%d¥n". *b);

b=&atlL/iZé&
IZEXv., *b & 100
2T 5L, adfEb
100 (2725,

*h = 100: (< iEMm)
printf("a = %%d¥n". a); (— 80
return 0;



vi siml.c
Fortran OHIE 7 7 75 A
ex9.for ® C SEBK

gee -0 siml.out siml.c

Jsiml.out

#include <stdio.h=

main( )
{
int i;

double t, v. u. dy. du. dt, a:

t=0.0:
y=0.0:
u=0.0;
dit =0.25;
a=938:

printf("time positon velocity¥n");

for(i=1:1==20.i++){
dy=nu *dt;
y=y*dy

du=a *dt:

u=nu-+du;

t=t+dt
printf{"%alf 251f %If¥n".t.y.u);

return 0;




77 e~ DFE A (fopen, felose, fprintf)
sim?2.

5 ;
cp simle sim?c

Fortran OfFE7 v 777 A
ex10.for ® C SEERK

vi sum?.c

gece -0 sum2out smm?.c

Js1m?2 out

cat sim data (£721% vi sim data)

#imclude <stdio h=

sim_data (&5 — % %

main( ) FHX AT,

1 cat sim_data (2 &V |
mnt i sim_data #F/~9 5,
double t. v, u. dy. du. dt. a;

FILE *fp- (< JBHN)
t=0.0;

v=0.0;

u=10.0;

dt = 0.25;

a=98%§;

fp = fopen("sim _data "."w"): (— &m R
fprintf(fp."time _ positon  velocitvEn'): (— ZEH)

for(1=1:1==20:1++){

dy=u * dt;

y =y T dy:

du=a *dt;

u=mu+ du:

t=1t+ dt;

forntf{fp."%olf %olf %ol tvu); («— ZFE) N
}
felose(fp): (« BN E
retum 0



